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NMMS - NOVEMBER, 2019

MENTAL ABILITY AND
SCHOLASTIC APTITUDE TEST

Timme : Part - I 90 Minutes Mox, Morks 9
Tinie + Part - I1 : H} Minutgs Max, Marks : Y0

Instructions to the Candidates

Rend the fwtlewing insiroctions carefalihelors you answer the gueationg, Answirs are to be
SHADLED on o SEPARATE givén LR Answer Sheerwith a BlackBall FointPen. Kead the
Instructiens printed on the DMR Sheehearelully hefore answering the/guesiions.

1~

[ ]

Please write your Centre Code No. and Roll No. very elearly {unly ane digit in ooe block)
an the (TR Sheet as giver in your admission card, Plesse see that no hlock i left uniilled
and even Zeros appeuring in the Centre Cudde Mo, are carrestly tramsferred to 1he appropriate
Wlocks on the OMR Sheel a3 shewn in the example given n the ML Sheet, Tor all
subseqrient purposes, vt Centee Code No. and Rell Mo, shall renain the smme as given
on the Admission Card.

The Test is i 1"'WO Parts. Part-L consists of 90 guestions and Part-11 also congists of
M) questicns.

Albquestions in Par-1 and Parl-11 cary one mark eazh

Sinece all questions are compulsury, do not try to reacd through the whole queslion paper
belare hepinning o angwet i

Fegin with the first question and keep trying e question wlier another till you fainish both
Lhe Parts.

¥-1 Iﬁ__l Contid...
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14k

L.

13.

TF vy dlo et knony the anawer bo any question, do not spend much time on itand pass o o
next eoe, T liane permits, you can come buck w the questions which you have left oot in
the first instance and ey them again.

Sines the time alloted to the wwo parts of this question papet i3 very limited, vou should
make the best use of itby not spending oo much time on any gueslion.

A blank page is provided for rough work at the end of each part.
Remember, vou have to shade answers on a separate O R sheet provided.

Answer to each guestion is to be indicared by SHADING thecircle having the number
of the correct alternative in the OMR Sheet from among the ones given for the
corresponding guestion in the bagklet.

Mo turn o the next page and start answering the questions.
Afterthe examination, you should band over the O Sheat to the Invigilator of the room.

The candidate need oot return this Question Paper Booklet and can take it aller the
eompletion of the examination. No candidate should leave the exanination hall
belure the end ol the ¢examination,

This Bonklet consists of 31_Pages Tor)d 80 {estions + 03 Fagez of Kpugh YWork +

02 Fille Pages i.eloial.dn Pages
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Part - 1 : MENTAL ABILITY TEST
Time : W) Mioutes Max. Marks: %0
Note : SHADK the correct alternatives in the OMR Answer Sheet provided firom amongst

oiles miven against (he conesponding questions in the Question Puper Bokler, Forshading
the vircles, use a Black Ball Foint Fen.

Directions: Questions {1 to 14):

The follewing questions aré based on simple arithmetic caleudations. Theto are four altematives
given under each question. Alter sdentifying the right answer, indicate it as per nstnctions.

L 47638 - 035 -4125=14

(1) 44418 {2) 41448 (1) 34158 (4] 44148
5 HOTRS — 1. BA5— 12434 B3 =

(11 &9743 (7} E7943 i3] 47843 4y BTT43
3 I NG then £ =7
- w'IEE- 4] [

(1h 9% (3 (40 (3§ 4 (37
4 52435 43S FORT A=Y A 1

(1} 703433 (2) TORASS (3} 719455 (4} 718455
I R T E
o = —

13-14

{1} 67 (2} &7 (3] 77 @ 107

g, 0007 = Gg0uoy ="
{11 {0052 (2} 0000063 (37 O00MBQ0GE3  (4)  0.000006.3

7. 15546727 =7
(1 210 (3} 9¢ 4y 129

§  S12=(4<08)=7
ECE! (23 164 (3} 16 (4 128

3'D ‘I"F'I.]ﬁ
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10,

Directions: Questions (11 10 20

ﬁ-'+1:3_,_1
13
(1) 13 12) 1 (3]
3T 1=244, "=
(1 3 (1) 4 (3

16k {4y 17

3 (4y 2

In each ol the fullowing questions, there ore a cortain telationship bulween twa given words on
one sicle of * + and one word is given on the another side of - - while another word 15 10 be found
from the given 4 alternatives, having the same relation with this word a3 the words of the given
pair. Chocss ihe correct alternatives,

11, Cricket : J2ums - Fouol badl : 7

(1Y Paonts (2y  Goals (3} Penalty (4} Lel [ront
2. Slure: Slatc Pencil @ 2 Book o7

i1y [Ien {21 Rubhet {3 Scale (41 Srationary
13. DBone : Skelton :: Blood o7

1V Fye (X Ear (3} Wein (41 Sk
14, Hlogpital s Docken: :Sehook!

{115 |.e350m {2} Teachat {3r=Black Busrd (4] Bouok
15. Logk: Kev:: Chair: ?

(1% g £27  Gluss (3) Plate (4% Tabls
o, Cirele : Circomierence @@ Square =¥

111 Perimeter (?y  Ared {31 Side {47 Lengih
17, Wiclee s Cassette : Computer ;¥

i1y Real {2} Recording {1 Files (d) Floppy
19, Thermometer - Temperature ; : Hygrometer - 7

i1 Pressure (2% Humnidity (3} Lrensity (4} Relative Doosily
|4, 1hws . Tiriver : : Aeroplans ¥

(13 Pilot {21 Wheeler {31 Watcher (4} Nune
20, Jaggery: Sweet: Chilli:?

(1 Sour (2y Hal (3} Haot (4) PBiller

4-D V-116
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Drirections: Qruestions (21 to 30}

D

In these questions a figare (X} is given with threc parls ind fourth with “%* mark. Find the fourth
part {rom the adjavent flzures to complels the tigure,

21.
m @ @ )
(1) 1 (2y 2 {3y 3 (4) 4
2| e
4] B B ]
(% (1 {2] (3) {4}
{2) 2 (3p 3 a4r 4

la&sReBult.in

(2) 2 {31 3 (41 4 B
2,
2z 7
{1} {21 13} {4}
{2y 2 {31 3 4 4
24,
(1) (2 (3} (4}
(2 (31 3 (4] 4

5-0

V-116
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20y, r—
O 1 | 1
(XD {1} (2] (3) {4
iy 1 {2y 2 (31 3 {4) 4
T
S iza O = =
(X} (1) (2) {3 (4}
(1 (21 2 i3) 3 (4) 4
28, e
Al
B s
ClassResult.l
LolassResultin
29,
7
X (1) (2 (3] (%)
(1 1 (1 2 {3 3 (41 4
3, ®
AlO®
. o £ [ 4p!
el
(R {1 (2} {3} (4}
{1 {2) 2 (3r () o
Y-116
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Directions: Cuestions (31 to 40):
Ineach problem, vut of the Tour figures marked (13, (20, {3 and (4] three are similar in a cortain
manner, Flowever, one figures i ot like the other three, Choose the figure which is different

ftoemn the rest,
3. |

() {21 (3) (4]
1y 1 2y 2 3y 3 41 4
RN
(1) (2) {3) (4)
o (2) 2 (3} 3 (4) 4
13,
33,
{1 1 {2) 2 (1) 3 4y 4
35, |
() (2 3 )
£1y 1 () Z (3 3 {4y 4
an. |
1 I I S e—
(L) (2] (3 )
17 P2y 3 3y 3 (41 4

T-ﬂ v'l.lﬁ
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A ALE

K
(1) 2} (3) ()
(11 (2y 2 {11 3 {4y 4
18, f o g
VAR IVAVEVAVAVANAVAYAY)
{1 {2) {3} [}
{1y 1 {Z) 2 (3p 3 (41 4
“IAIFIZIE
(1 (2 {2 (4]
{ly 1 {2} 2 (3 3 (4} 4
40, |

e3S u I t lllf-I) m
Directions: OPuacstions ($1 to 50);

o the given Live ultemative {13, {2k {3} 14), 13) fiputes, which three can make a zquare. Fmd.

9? /< D

{3} =)
L. 4, (27 2.4, 5 (3 L2.3 {41 2,3,4

(1} (2} (3} (4] (3]
(1y 1.2.4 (2] 3.4.8 (3y 1,2.3 (41 1,43

- V-116
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h L < & /ﬂ iy, Y
(1) (2} £} {5}
{11 1, 2.4 {2} 1,25 {3] 2,54 {4} 244
B & L ﬂ ﬂ B
{13 {23 (3} (4} {3}
{1] 1,2, 3 {2} 1,2.4 (3] 1,3,5 {4} 1,4,5
34,
> D a [
(1 (2} (3} (4) (5]
{Ij 1.3.4 (E} L {3 2. 3.4 (4] 1.3.,3
A, | |
6 aﬂssﬂ eSult]
L3 (2 1,23 {3y 1.4,5 {47 2,31,4
: [i\ J % ‘p Q
{4} (3]
{n 1,273 (2 23,4 (3} 3,4,5 {41 2.4,3
b P ,47 N T} : >
{1] (3]
() 1,23 {2}y 2.3.4 (3 1,3, 4 (4] 2,35
g_n V-llﬁ
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44, I_I:I — |7 il d

(1)
i

(2]
2y L

3.4

Z)&%<4

(4
1,2, 4

(1
(b 1,23

{2]

2y 2,34

{3

(4)

(i) 1.3, %

Directions: Questions (51 to al):
Fach of the following questions consist of twoe sets of igurss. Figore A, B, © and [ constitute the
Froblemm set while figures 1, 2, 3 and 4 eonstitute the Answer Set. There is a delinie relationship
between Figures A and B. Fstablish a similar relativonship between figures C and U by selecing a
suitable figure from the Answer Set that would replace the question mark {7} n figurae. (L1},

1. Froblon Frgnres:

&, €2

o?_\

(A (B .y {0]
AT ]'l..u.r-;..:-
111 (2] 'Ky id]
(13 1 {2y 2
G2, Peblom Figares

{1

[

(A}

3,4,5

(4] 245

4 4

‘ \

Sl

A (B ) (D
Anzeeer Frgores:
R
| (1) 2 Ky {4
Ll (1 2

(3 3

10-D

)
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71, Problem Frgores:
A
‘\Q LT
(A} =1 Ly (M
Angwer Figlires:
| e | e | e
| f | I
A, s X it
{1} i {3F (A7
iy 1 (Z) 2 {3} 3 (4) 4
4. Problem Figures:
==K
(40 {8 {Ch (0N
Answeer Figurgs:
T
ok esult.in
|
1y 1 2y 2 (3 3 {4] 4
53

23 Mroblem Fleaces:

O (< ) | 2

fA) IEY L8] im

Angaer Figures:

==\l

(1 (2} (3) {4]

X

{(y 1 {2}y 2 {3 3 (4) 4

11-Tx

V-116




NMMS(E)

3.

TProblem Figures:

- [S=le | 2

Ay (B Oy
Answer Figures;

S| <]

(1 (23 {3} {4

{1} 1 (1) 2 (3) 3 (4) 4
3. Problem Figures:
[ .
> A < ?
L e |b of|— 4| °
(Ay (B Q) ()
Answer Iigures;
Result.in
[
(1) 1 (2} 2 (3) 3 (4) 4
58. Problem Freures:

<P {3 2

(A (B} [y {3

Answor Figumns:

EIREIE

i) (2] {1 (4)

(1) 1 (2) 2 ¢) 3 (4) 4

12-1
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59. FPrublewn FFigrures:
| a
|.——a —— H\ ? ‘
Ay (& 1 dIn
Answer imare s
—&— | W - a| B
i () {3 4]
{1y 1 23 2 4y 4
Gl
Froblem Foaunes;
| f‘j- O
L'l\_af j?E ‘?
(A} IEY) i) iTH

Answer Figures:

{1} 1

2y 2

Result.in

(4) 4

Drireclions: Questions (Al to T0):
In the number scrics given below. one nofober is missing. Each serics is followed by tour
alternulives (1, {20 (3, (41 One of them is the right answer, indicale it a5 per the instructions.

A1, 15,3331 36, 7 39

(N} 32 (21 34 (4} 40
2. L25.80,45 2, 7

(13 5 (2) # (43 12
63, 125,254, 204, 150, 127, 105,

(11 94 (2} 96 (4y 100

Y-116
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g, 240, 7 LA, A0, 1, 2

(1) 180 (27 240 (3) 420 (4) A%
65 2, 7.AT 107427, T

{1y 1262 (21 1707 {3 4027 {4y 4207
o6, A5 54,47, 7 49 5641, 37,31

(1) d& (2 3 {31 55 (4] Mone
67, G, 36, 1% 7

i1y 3 2y 6 EN {4) 4
6d, 20,200 1% 16017, 13, 1411 0

(13 10, 10 {27 10,11 i3y 13,14 (4 13,16
a9 1,4, 25 449 81, 7

SRRt (2} 112 {31 (41 127

0,006, 13,28 50, 2
{1y 111 f2y 113 (3 114 {47 1312

Directions=Questions {T1 o B
In these questions, (heeg abe eduaions tharhaye becdme wrong die to incotrgsr drder of signs.
From the feusdliematvesgivembelos findomthe comectorder of signs. Sothatthe cqualions
become correcl.

Tl 95 224 -4 -1

{1y —+.- {2y = x- {3) +o=- (4 -
R =9 ]

{I] By [:.2} ot [3} = +! - {.4.] =t =
T A+ 15=3=3

I:.I} _=-+=_: I::E:l :_:l+1_ (3:} = % - [4} :"-=|1_
T OT2R=E+ 137

(1) == (2] =+ - (33 4+ (4) + = -
T3 le=3-T+3

i1y - .= {2} +,-.= 3] += 4y + -+

- V-116
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7. 12-8+ 46+ 576
|:]'F woE = ':_2:' =yt :3.} +!-+:= [4.} “r +:|-'L

ITI01+14+7 0 3
{l'} = BT {,2] T 1+ {3.] =+ - {d’.:l =1_x.-|-

G, 34 +4-ThH4+4
[_I_] ] :_!- + [,1} :_'l :r 2 |:,3} =:- +: - ';,4_} T I- T

™ M -5+27 =10
(1 =t~ (2) -+ 0 (3 o= e (4} =+

B0, 30+3r9-3
{.l.':l - t.- [-E'.} - 5t [3'] R {.4.] ;e

Directions: Questions (81 ta 90):
I each ofthe fallowing questions, a set ol ligires cartying certain charavlers is given. Assuming
that Lthee churactets in each sct Tollow & similar pattern, find the missing character in gach ¢ase.

3.
esult.in
(1 1 {2y 1% {3y 20 4y 23
52
(13 iy 1% 5y 17 (4% 1D
83 ) 2 2
:3 4& 1(2 )4
3 E A
{1y 42 2y 44 (3} 4% {4y 48

15-D V-116
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B4, |42 ] 44 | 34
23 [ 55| 28
37 ) AN
(n 22 (2) 33 (3) 66 {4y 77
83.
48
(1) 27 (2) 35 (3) 54 (4) 64
B
2) 221 (3) 236 (4) 255
87.

EH.

db

(1) 10 (2) 12 (3) 13 (47 15
3. [aa T 88
14 12| |18 @ T
(1) 16 (2) 21 (3) 61 (4) 81
o, [st] (1 | &l
54 | 30 |32
S EREE
(1) 25 {3y 23 (3) 18 (4) 20

16-D V-116
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SPACE FOR ROWGH WORK

ClassResult.In

17-D
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SPACE FOR ROUGH W(RK

ClassResult.In

18-
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Part - [1 : SCHOLASTIC APTITUDE TEST

Time @ %0 Minutes Max. Marks : 90

MNote :
11 Subgear, Chaestion No. and Marks allotted:

SI. No. | Suhjeet | Question No. Marks
1. | Physics 41 1o 142 12
2.-_- Chemistoy 0%t 113 11
ER . Biology 14 o 123 12
4. | Mathematics 126 to 145 20
5.. History: 146 10 1535 IE"J
& Crengraphy 156 10 165 10
7 Puoliticel Science 166 1o 175 10
B Econumicy TR ) B Ui

it SLHADMYE the citgle having the correat allematives in the OMR Answer Sheel provided,
Iromn amongst the ones given against the correspending questions in the Question Paper
Buoklst For shading the ¢irgles, use a Black Ball Point Pen.

15D [ V-116 |
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91,

Y3,

G

PHYSICS
X, ¥ are the objects having same size and inade with same material. A oail of | kg on X and
a screw of | kz oo Y are placed on which abject the pressure 15 maore
(1} wnX T
{2} onY

(3 cqual pregsore on X and Y
{4) data is insufiicient o

/ 2em %

M

Vibralions of hack-saw hlades

X i3 the pitch of the sound produced oy the hack-saw blade of 20 em. in
Y is the pitch of the sound preduced by the hack-saw blade of 5 cm in,
(1) _X=Y

{23 X=¥

{3 X=Y

(4] Pitch does not depend upon the lengih of the hack-saw blades.

Wheeh of the following is incomrect inthe case of friction
(1} Frictional force is dependent of the area of contact

2y Frclion is propottional w the normal foree

i3) Friclion opposes the relative motion between (wo surtaces in contact

{41  Friction depends upon the sutfaces which are in contact

If the incident ray incident petpendicularly to the plane, then the angle of reflection.
(1) 90°

23 1807

(3y 0°

(4) 45"

i O

_— V-116
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3.

96

T ett side P i @ Ej @' . Faglu sicde

Sorion of the car in which direction
(11 towards right {1y towards e[l

(3} wpevards {47 carwomn'omove

Mirvors which form only virtoal images
f1y  plane mircon conves wireaer

{2 coneave mirtor, plane mimer

[3)  convox MLTor, Soncavs miror

(41  only concave mircor

The WEw Pused insix wmakiowam, mintfumtbermometer s | L
(a) \Watcr

(bl MMercury

i) Aleohol

{d]  Air

{11 aandb (21 hande (3} candd (4y aandd

=50 [ce iz heated upto it become vapour
11 the ohservalions are ploted in the given below graph, Which parts of the graph represents
the process of malting and boiling respectively.

1} AB,B : "
LIy ,BC é HUCe] = = == = '
2y BC,DE EL
{37 Cl2.DE B 71 N
{4) MNoneofthe above ’[ - — Tie:

- V-116
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9, ¥ Welocios of a Bus is 72 ke
Y Veloeily of a Car is 43 mfsec
Z AV ravelled 60 km ity 30 minutes
11 % is the velocity of Bus, Y is velocity of Car, £ i velocily of Yan.
fly H=¥<Z {2) Kx¥=Z i3y X=¥rZ4 (4} K=¥=2Z

100, Malch the [ollowing,

i1 Motion of blades ol'a ceiling fan 1) Oscillatory mation

i1y Motion ot an attrow from a bow bl Rotalory motion

iy Motion of the cadb around thesun - ) lranslatory molion

i) Botion of Lthe needle in the dy  Translatory and rotatory moion

clothes stilcling machiny
(1} i-n ii-h ili-¢ rv-d
{2y i-a fi=c  di-h dved
{3y i-b il.c dii-d dv-a
{41 i-b  li-a dii-d iv-g

1111, Asséroon(A) Elecieic bulbs in ourhouses are conneled iyparallel
Reason (R1: 0 BulbSglowbnighterwhemthey dreconngctéd in parallel.
(1% Both {A)and (K are conrect (¥ Both{A}and {I&) are ineworect
{3) {A}is correct, (R} is incormeut {41 [AY s ncotrect, (R 15 comet

102 Adarch e tolkrwing.

i1 Humidiry ad  Pawm pavgs

i1y Rainfall by Sixmaximum, odnioun dermometer
i) Windspeced ¢ Hydrometer

i) Temporature d]  Ancmometet

(1) d-a ii-b  dti-d mw-c
(2] di-v  di-B Qii-a  iv-d
(3 - li-a ii1-d I1v-b

{4y 1-¢d  di-e  Wi-b jv-a

3.8 V-116
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CIIEMISTRY
1612, Meothyl orange Phenalplibalein Turmeris solution

Lemeon Juise radl coloutless £
Lhelergent soap water vl low I i Red

I-Disli Iled water i X colonr|ess yellow

The colours X, W, £ are _ N

{17 eed, eoloorless, red (27 yellww, ¢olourless. pink

(31 yellow, pink, yellow (4} redpink, red

1644,

e l1me wenlar

D Lo release of gas lime water tumed milky whit?, The milky white substance
conlains
(13 goxyen. caleiumaoxids {2 _Hydrogen, calgivm carbonae

(34 \Curbon digwide, Ealciommgarbidiite | == =Gy pen, calzium carbonaly

105, T Thermwplustics soften whean heuted.
0 : Thenmosetiing plasties which moulded ance can’t be soliened by heating.
{17 Piseorrect, O s incomeet (2} Fand O are incorrect
{37 Pis incorrest, O 1s coreet (4) P and Qure correct

10, Armunge the wetals coppet, iren, Ziog in descending order scoordiog 1 theirreactivity
(1} Zine, Iren, Coppet {21 Tron, Zine. Copper
{3y Coppér, £ing, ron {4) Finc, Copper, leon

L7, Tdentify the wrong stalement.
{17 The mixture of @lummium and copper is wsed inthe preparatien of ¢oins,
{21 The mixture of gold and capper is used in the preparation ol Jewellery.
{31 The mizture of iron and carbon is used n the preparation of steel
(4] The mixturs o aluminium and carboi is wsed in the preparation ¢f statucs,

V-116
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1{tE. By sprinkling small quantiticsof n water will prevent browning ol vegelables
afier culting.
ap  Vinegar By Lemon Juice <} Ascorbicacid  dy  Biinc acnl
(ly abow $21 b,c,d {1 a,e.d (47 a,b.d

140, Match the following

i} & al  Wash

i} EI bl Bleach

i) ”Tﬁ;" o lron

1¥) ﬁg db Do pot Weach

(1} 1-a m-h -4 div-d
Ay i-b g dll=d dv-ul
(3 i-b  ai-¢  dil-d iv-a
(4y i-a ii-b  Qi-d jv-c¢
1141, Choosc the corréct statements amang tbe follewing,
a)  Lhe gas we use in kitchen is in the form of iquid nthe exlinder. When il comes o
[romnn the ¢ylinder, it becomes a gas, This i3 a chemical change,
by AThebumingol gascoms fram the oylinler sy chemical ghange,
v | Bucteria dieest aninzalwasie 51d produee bingas. This & aphysicalchange.
d)  TTe biopasbumias a el isa chemicaltharnge.

(1} ab.d (21 a,b,c (1) hoc.d (4 3 ¢
111, For acidity prablem doctors prescribe antagid drugs which coutum

2y Magnesiwn bydronide bl Sodinm acetalo

el Vinsgar di  Alumininn hwdrosde

(17 aandh {23} handc (3t candd (4] aandd
112, Among the following which ¢an not be recycled

i1y PET {2) HIFE {3y P4 (4} 1.PFE
113, Match the following.

1y Bemoving of prease, cil stains ar  Aluminiom hydroxice

b Fimeslinguisher By Cwalicactd

it Removal of ink stains ) Ammonisn hvdroxide

v Cooldrinks d1 0 Carbonie acid

{1y i-a dt-b uwi-¢ iv-d {21 1-b i-a d-d o odvee

(3} i-¢  di-a  dii-b iv-d (4) i-a  di-b  dii-d iv-v

. V-116
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L4,

L13.

BIGLOGY
Amound of solar enermy atilised for putpeses of Global heat, cvaporation ofwaler on the
irth
{1 5% (2} &% (1) BO-35% 4y 3%
Which v 1he followine statements is incamect?

11} Red Fox, Lion ure the endangered specivs in lodia.

(2% The Deccan wingless grasshopper i5 seen only io the Rabi scason,

{31 Menstrual cycle in woman stops at the age of 45-51},

{4) Louis Paslent discovered the controlling measures for microbial diseases caugsd to
Lhe Silk moth.

The given organism in the above picture is a type of

(11 Bacerium (2Y Protozoa (3} Fungus {4]  Alphe
117. 1T Zypote denotes Y

Scedl denotes G

Mo plants denorss =Y

Ldenairy the sequential order of fonmaton,

i) E (2) @% {3 E{r 4

i y IE

L&, Which ofthe following plaat produces nevw plant from the epiphyllous ods (Leal buds}.

{13 Lilky {2} Trahlia {3y Sirawhorry (4% Bignonia
119, Muatch the following.

iy Oulebi ap  lungus

iy Puonfication ol dramapge water by Loom

iy Hamess ¢ Hatstoria

v} I'arasilic plant d)  Yewst

vl Cerpospora el Har screen

(1} i-d ii-e dii-¢ iv-b v-z

(2% i-c -k dined dw-a veo

(31 i-a e ni-b iwv-d4 v-e

(4% i-d i-e di-b jv-€ wv-a
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1240, I1dentify the comrect stalemenis from the following.
(iasenus exchanee in plants occurs ooly thoough stomala,

[nscelivorous plants griny only in Nitrogen deficient soils.

a}
b}
(1)
{2]
{3)

{4}

A 15 T

b s ulso (roe
a is false

b is Lrue

a is truc

s Malse

a 15 Tulse

b 15 also falso

121. Palis
(1 alypeofsilk available in Northern India
(23 arype of silk available in Western India
{3 atype ofsilk available in Eastern India

y rype of 3ilk available in Southarn India

{4)

122, This cell organells can be recognised by using Methylene blue solutivo,

(1}

Muclcolus (2} el wall

(3}

Mucleus {4) Cyvioplasin

123, During the confirmation of presence of food components, dark violel coloured] sulstance
i TPl edwhen it is treated withicopper sulphale soluticn. This delcrmings the presance
of this compoiLnd

Fats (27 S .Carbolrvdeates A 39, Prowins (4 1 Vitamins

Armemonium [yedroxide
Potassium hydroxile

Fimnotions
Qcabies
Jamadam

Cibzervation and description of micto
LTZANIsmS

Cio pesticide

{L
124, Which of the following bases is used as a fire extinguisher?
11 Alluminiwm hyedroside (2
{3]  Calvium hydroxide (4}
125 Mawch the follewing.-
11 Tweand Dye ]
iy Bacillus thuringiensis k)
ity Jan swanunerdum o)
vy Addnalin )
vl Micro Arthropoda e}
{17 i=d  di-e ili-b iv-a v-e
{21 1-¢ i-¢ dii-d mw-a  v¥-b
(3] 1-u -4  jii-e w-a v-b
4} i-d  di-¢  dii-a iv-e  v-b
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126.

127,

MATIHHEMATICS
Jt'r::-h;].é'ﬂ:?—:l'E and I:T_'E'=llh-:r1x=
(1 7 (2) 4 3 s 47 3
& o
Thevalue ot 3% 4+ 87 =
(13 512 (23 521 Gb 125 (4] 215

L28.

21

2=

The following arc the sleps invelved i finding the values m‘"{ﬁ' o }A—P {H’H‘_ }P-: {u‘:_: |
Arrange them in sequantial order

By gl Lrealsl fesaile-a)

by ab=1

e et o Ay

o T T~

=
!—r'l-.z!—.:z

&y gt
(17 a,deb (2} a,c.b.d {3 wedb (47 a.d e

Thegenlties af x. - and 2 in the adjaeemydiagram

=
(] x =88, 52878 2 =00 .
(2} NesB2 boRis o6 -+
(3} x=67%y - 927, 7= B8 "

(4} ¢ =887,y =920 r =§7°

130. Lach zide of a triangle iz increased by 10 cm. IF the ratie of the perimeters of e new
triangle and the given rriangle is 5:3, the perimeter ol the given triangle
1y N0 (2 120 (3y 100 cmn (41 Y0 um
. _3{':145 x 2
Bleff~ = =
A w2
{17 ll {2} El (3 11 (4) 3
2 3 ;| B
[0.85 {105 - 0.624 - 0.008)
| 32, g —_
’4 D22 x10.25x1.7
ISR 2y 1 3 W11 {4y 1
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133, T'heratio of the present ages oftwo brothers is 1:2 and 5 vears back the ratio was 15, whal
will be the ratio of 1heir ages afler b years

(LY 14 {21 23 (3p a3 {4y 56

134, A single diseount equivalent to two siccessive discounts of 20% and 3% I3
(1} 25% (2y 4% (31 23% (4} 6%

L35, [wo numbers A and B arc such that the sum of 5% of A and 4% of [ is tvo-third oftha aum
of 6% of A and 8% of 13, the rotio of A:B i3

iy 23 (2y 1:1 [3r 3.4 (4} 4:3

| I
136. If ¥ t —=—2 (hen ¥ ——5 =
¥ ¥

(1 0 (2) 1 (3 2 (4} 250

137. Inthe adjacent figure ABCLY i3 a syuare of side Bemand PM L AB. the length of MC -
{11 545 un
(214764 cm

(3 Ndeg® il

14 T-'~.-'E Cm

.i__g!’?_=i
135'“{&—.:} {c—ﬂ} {ﬂ_b},lhenPﬂx+Qbyl-R{rz=

(ly rP+Q+R (2} x+y~2z (3] a+bte (d4) 0

139, Statemncent (AY: {1024y = 14
Statement {BY - {16) % =132
{11 Both the statements (A ) and (B) are correct
(2] Both the statements (A ) and {F] are incotrect
(3} (A5 comrect, (B} (s meormect
4y (A I3 incorrect, (B 15 aorpect
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140, 1F = ={=1) +(=17" .4 {=1)"" and

¥= {-l]' — {10+ ...-F-II—I:IMI:r then v -y is
{1y 2% {21 201# (3y O (4y 1014

frr + Bx 42
14] 1fE =X 2 P ppn T2 IXTEP
oy g ah+ Gy +2g

(1} % (2] (3} (4} All ofthese

&
¥

= T

142, 1f 7" = 246 where @ and bure positive integers and o # |, then which of the following is
{are) correct?

h u=#hk
N a=5
W a«b

(13 Eitherlorl1 (23 EitherIlorTTT (33 Eiberlorll 4) Tonly

143, Find rhe total cost of levelling the shaded path of uniform widéh 2 m faid in the rectangular
field shown below, if the rate per m® is % 10
i

¥ty
88

SR

e,

i

)]

¥ Wm

{11 T 12600 (2} T 16200 (33 T 13000 (4} 7 12H0
=5 dx+3
l44. Which of the following is a solution of hE > x: 7
{1) =z=-3 {2y x=-2
130 bolh{lyand (2} {41 neither (1) nor (2)
143, The mean of 2, & and ¢ is same as the mean of b, 2¢ and & then which of the following is
correel?
(1) w=h=¢c (2 b-c=4d (3} G=¢ (4} a=v+a

29D V-116




NMMS(E)

|46

147,

HISTORY

The Seeovcl World YWar was broke oul m
(1} 1414 {2) 1824 (30

Mo the fellowing coastal district in given Map,

{11 Cunlur

(21 Krishoa

(3} DPrakasmn

fdy  Wisakhapatnom

153% {4y 12

148, Match the Tollowing,
17 Mansabelar ar  Hereditry chicl
iy Akbar b}  Meveous assignment
iy Tagivdur ¢t Sulb-i-Kul
W Aamindar 7 Rank
{1y i-d 1L-¢ w-b n-a
{21 d=w di-b diied dvec
(3] di-a  di-d - iv-b
41 i-b  di-¢  di-d iv-a
L4%. Which part of an mseription is valled "Frushash’
{11 invoculion part {2} haolf-a-part
(3)  Third paort (4} Endofthg pan
150, Kildh-AbkHindtheardlie hooltw s witeer by
(1 NALBm (2] Tags
131 Warco olo (471 Al Roeak
151, 1n 1196 ALY o New Kingdons was esahlished in Delhi by
(§1 Tozhlugs i3y Sulrans (3 Bughals {(d) Lodhis
152, Sii Krishnadevaraya tuled from
(1 1330 AT 1357 AL 127 LazbaD- 15342 Al
{31 1523 AD0 - 16ld AD 14} 1MRADL- 1I32%AD
153. The fust Mughal emperor was
(1} Babur {21 Akbar {37 omayun {43 Shahjaban
154, Who constructed the Qutub Minar
{1y Cuibuddin Adhak (2} Babur
{37 Humaun idy  Akbar
155, The attle of Plassey was fought betwoen
(13 TipuSultan and the British {27 Muzatfur lang and the British
(37 Sirajuddaula anc the Britsh (41 The Mughal cmperor and the Britsh
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GEOGRAPHY

146, Froun Morth to South which one of the following is the correct sequence af the lven Tivers

A1 MNagavali B Vamsuclhos

£ Godavarl [ Knshn

{1y AB,C.D (7} B.ACII {31 ABDC 4y BADC
157, A1 Ttis a shiny mineral By Itisused in electrival mdustry

€] Tt comes in thin Lavers Dy 1t is a nun-conducter of electricity

The above staterments are related (o this nyineral

{1y Dauoxite (X)) Mica (3} Asbestos {4y  Feldspar
135, Slaieh the following.

i1 hne 2l a]  Sup onthe Bquatac

i1 March 21 bt Suponibe Equator

i1 Decenber 22 ¢y Sunon the Tropic of Cancer

vl Seprember 23 d)  Kunon the Trepic of Capricemn

{1y i=¢ di-a  dii-d iv-b
{2) i-a il-c ifi-d Iv-b
(3] g=a b dii-d (e
iyl i-c | B GG ived

180 Br. Ravi wants to know the boundary of Andhra Pradesh. Whichofihe fellowving map docs
help b
A lodia - Poditical map
BY  India - Physical mup
Cy  India - Contour lines oan
(1 A only {2} (Byonly
(3% iC)ondy iy (Bpand{C)ooly

1601, “Therears lwo main groups referred Lo us Cskimas ; Inuit and Yupik. Iiuit’ intheie language in=ans
Al the people
H} the originates
) Snow shoe-neter
{11 (A)enky {21 (B]ooly
(31 (Cponly {4y {A)and (T only
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lal.

Relict featuees
of an Jkean

Inthis piclure * A" refers 10
(1} Treneh

(1) Deepsen plain

{3y Lontmental shelt
{4y Lontmental slope

162, The angle a1 which the rays fall on the carlh’s surface 15 called
f1Y  insolalion {2} solarrvadiation
{3 b eadiaticn {4} uangle of ipcidence,

165, Cony:

India. ™ thiz convention:l
N

symbeol indicate:

{17 but (2y  deserted forr [3)  rank {43 Broken ground
164, *Pioe’ forests wsuallv found in this region

(17 Eguatorial region (21 Uimalayas

(3 Coaztal Andbra Pradesh (4} Rayalaseoma
165 The highest peak in Africa is Mount Kilimanjaro in

(1} Tanzinia (2) Ceypl (3} Ethiopia (41 ‘~igeria

- V-116




NMMS(E) D

166,

POLITICAL SCIENCE

T pulitics we will have equaliey and in social and economic life we will huve ingqualicy. In
pulitivs we will be recognising the principle of onc man one vore and one vote one value.
In cur socixl amd econoemic life, we shull. by reason of our social and econemic structare.
vuntinue to deny the prineiple of one man one valoe, How long shall wue continie to live
this life of contradictions™ Hoew loong shall we continue wo deoy equalicy io our soclal and
econamic lite? I we continue to deny it fur lotg, we will do so only by purting our political
demmacracy in penl™.

Whose stalemnent was it

{13 Dlahaimadiandhi {217 Dr bR Ambedkar

{31 Jawaharlal Nehm {4) Dr.Bubu Ryjendea Prasad

167

1 Tndia any law relating 0 Money and Baoking ¢an only he made by
(1} Parlimoent

{2y BeserveBank ofIndia

{3y Election Commission of India

(4] Whorld Bank

162,

L5,

170

Guwer et of v Pradech enacted the Andhra Pradesh waret, Land and Teees Proteciion
Bt

(1) 1902 (2} 1985
(33 1990 (43 22

The druliing comnmittee chair person of the [ndian Constiltion is
{11 DB R Ambedkar {21 Dr Babu Rajendra Prasad
(37 Dr. Zaker Flussen (4} [h. Fanukh Abdullah

Wha is the [ollowing person is mast kanown for his effons to cducate women and lower
casles wi well as the masscs

f1y  Sawvitribai Phole
{23 Perivar BV Rama Swami
{17 SraMNarayanas {furu

{41 Jvotirao Covindrae Phule
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171. The most popular folk goddess of Andhea Pradesh s
il) Tochamma {21 Maisanina

(31 Gangarnmd (4]  Yollamma

172, The Governor of the State is appointed by
(1) Prime binisier {2y Chael Minister
£3117  President (4] Chicl Justice of Supremec Cour

173, The first Union Law Minister of Independent india is
(1} Dr B.R. Ambadkar (21 Smt Vijaya Lakshmi Mandit
(3} Sardnr Vallabbbhai Pate] (4}  Subhash ChandraBosc

| 74, The constitutivn of India encrosted the responsibility of conducling elections in India to
{11 The Supreme Court
{21 The Election Commission
{3} Cuntral Governtmenl
(4y The Stare Ciorrernment

| Ta. Match the 1ol lowine:

it SEvoereipm a P fsernment Wil worfavour any religion

i) Republic b} Poople have the supreme righl to make
decisions

iy Fratemicy c)  Head of the Siate is an clected parson

wy  Secular 41 People should live like brothers and sisters

(17 1-h H=-c mi-d iv-a
{21 i-a  @i-d ji-b iv-¢
{2 i-c - i-a iv-d
(4] j-d di-¢  1wi-b iv-a
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ECONOMICS
174, He devised amethod of [ayving voad using broken stones,
iy DBoalien {2 George Slephenson
{3y lohn Louwdoen MMe Adom {41 Twmes Wall
177, Arranpe the following stages of paper-maling process o correct order,
A) Cuning
B) Pressing, drving atdd colling
5y Chipping
v Spreading che pulp
F} Making ol wosd pulp
i1y R DB A 2y ABCDE
(3r C.DWDBLE, A (43 AEDDB.C
178, Inthe Muoryon Period “Pana™ was the standard correney, 10 was macle ol
(1% Cald {21 Silver
{3y Brunee {4) Copper
L T¢. Herpy Ford staed thissnethod of producticn te produce nidreiars yuickly,
f1) CCembimed T arvester 12 “Assembly s
{3y Barter syslom (4]  Taciory systom

1340, I which position India is the lacaesl producer of medicines in the world.

{ly ¥ (2y 2~ (3} 3 (4] 4

A00ad
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SPACE FOR ROUGH WORK

ClassResult.In
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